KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

WELL COMPLETION FORM

WELL HISTORY - DESCRIPTION OF WELL & LEASE ORIGINAL

1	UNIUIVAL
Operator: License # 3882	API No. 15 - 15-053-21153-0000
Name: SAMUEL GARY JR. & ASSOCIATES, INC.	County:
Address: 1670 BROADWAY, SUITE 3300	and a control in a figure of Continu
City/State/Zip: DENVER, CO 80202-4838 RECEIVED	
Purchaser: KANSAS CORPORATION COMMISS	1500 feet from WEST Line of Section
Operator Contact Person: TOM LARSON	Poolages Calculated from Nearest Outside Section Services
Phone: (620) 653-7368 JAN 1 2 2006	(circle one) NE SE NW (SW)
Contractor: Name: PETROMARK DRILLING CONSERVATION DIVISION	Lease Name: BIRD Well #: 1-35
License: 33323 WICHITA KS	Field Name: WILDCAT
Wellsite Geologist: JUSTIN CARTER	Producing Formation:
Designate Type of Completion:	Elevation: Ground: 1777' Kelly Bushing: 1783'
X New Well Re-Entry Workover	Total Depth:3381' Plug Back Total Depth:
Oil SWD SIOW Temp Abd.	Amount of Surface Pipe Set and Cemented at 415 Feet
Gas ENHR SIGW	Multiple State Cementing Collar Used? ☐ Yes ☑ No
X Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan ALT I PLA WHW
Deepening Re-perf. Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit) 5-2-07
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume bbls
Commingled Docket No.	Dewatering method used
Dual Completion Docket No.	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No.	Operator Name:
Guid (GVD & Limit)	Lease Name: License No.:
9/18/05 9/25/05 9/25/05	Quarter Sec. Twp. S. R. East West
Spud Date or Date Reached TD Completion Date or	County: Docket No.:
Recompletion Date Recompletion Date	
Kansas 67202, within 120 days of the spud date, recompletion, workov	with the Kansas Corporation Commission, 130 South Market-Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING ubmit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regula herein are complete and correct to the best of my knowledge.	te the oil and gas industry have been fully complied with and the statements
1	KCC Office Use ONLY
Signature: Moman Hertal	Letter of Confidentiality Attached
Title: SR. GEOLOGIST Date: 01/11/2006	If Denied, Yes ☐ Date:
Subscribed and swom to before me this 11th day of JANUARY	Wireline Log Received
- TOT-7-	Geologist Report Received
Notary Public: Miota Dhuga (1974)	UIC Distribution
Date Commission Expires:	
/ VRIVO	SA .
Mor con	
My Commission Exp	ires
MAY 9, 2009	

CONFIDENTS

ORIGINAL

perator Name: SA	MUEL GARY	Y JR. & A	SSOCIAT	ES, INC.		Lease	e Name:	BIRD			We	ell #:	1-35
	p. 17	S. R.	10	☐ Ea	ast 🛛 West	Coun	ty:	ELLSW	ORTH				
ISTRUCTIONS: Sol open and closed, and flow rates if gas that the final geologist	Show importa flowing and o surface tes	ant tops a shut-in pr st, along w	nd base o	of formation	n penetrated	. J. Detail all course reached sta	atic ievei. nv	rarostatic	; pressure	s, bollom noic	temperat	uro, nala re	,,,,
rill Stem Tests Take		×	Yes	□ No)	⊠ Log	F			epth and Datu			☐ Sample
ample Sent to Geol		/ Ø	Yes [□ No	I '	Name TOPEKA HEEBNER	KANSAS C		EIVED ATION CO	MMISSION	Top 2542' 2803'		-759 -1020
ores Taken			Yes	⊠ No		DOUGLAS BRN LIME	ا	IAN 1	2 200	6	2832' 2920'		-1049 -1137
ectric Log Run (Submit Copy)			Yes	□ No		LANSING ARBUCKLE TD	CON		ION DIVIS	SION	2936' 3275' 3381'	٠	-1153 -1492
ist All E. Logs Run:		DNIC		OROSITY		·-		******		· .		·	·
				ING RECO		☐ New or, surface, inte	Use		n, etc.				
Purpose of string	Size Hole Drilled	Size Ca	asing	Weight Lbs./Ft.	Setting Depth	Т	ype of cement		# Sacks Used	Ту	pe and Pe	rcent Addi	tives
SURFACE	12-1/4"	8-5/	8"	28	415'	CLASS A			235	2% GEL & 3	% CC		<u> </u>
							•						
			•	ΔD	DITIONAL (CEMENTING/S	SQUEEZE F	RECORE)	<u> </u>			
ourpose:			pth Bottom	T		of Cement	<u></u>		ks Used	Ту	pe and Pe	ercent Addi	tives
Perforate Protect Casii Plug Back TI Plug Off Zon	ວ ັ [Top	Bottom										
Shaharan Fast	PERF	ORATIO	N RECOF	RD – Bridge	e Plugs Set/ al Perforate	Туре				e, Shot, Ceme		ze Record	Depth
Shots per Foot		pecily Foo		Lacii iliciv	un chorate			(711.104.1					
			ь										
							,				<u> </u>		
TUBING RECORD	· .	Size	<u></u>	Set At	F	Packer At	Liner Run		Yes	□ No	_		
Date of First, Resum	ed Production	on, SWD	or Enhr.	Produc	cing Method		Flowing		Pumping	ı ☐ Gas	s Lift	☐ Other	(Explain)
Estimated Productio Per 24 Hours	n	Oil	Bbls.	Ga	s M	1cf Wat		ols.		as-Oil Ratio			ravity
Disposition of Gas			<u></u>		· · - · · ·	METHOD (OF COMPLE	TION				Pr	oduction Interv
·	Sold it <i>ACO-18.)</i>	☐ Us	ed on Lea	ase		oen Hole her <i>(Specify)</i>	☐ Perf.		ually Con	np. 🔲 Co	ommingled	l	·

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665 NVOICE

Invoice Number: 098641

Invoice Date: 09/28/05

RECEIVED KANSAS CORPORATION COMMISSION

JAN 1 2 2006

CONSERVATION DIVISION WICHITA, KS

Sold Samuel Gary, Jr. & Assoc. % Larson Engineering, Inc.

562 W. Highway #4

Olmitz, KS 67561-8561

To:

Cust I.D....: Gary

P.O. Number..: Bird 1-35 P.O. Date...: 09/28/05

Due Date.: 10/28/05 Terms....: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	ΤX
Common	105.00	SKS	8.7000	913.50	T
Pozmiz	70.00	SKS	4.7000	329.00	Ť
Gel	5.00	SKS	14.0000	70.00	T
Handling	180.00	SKS	1.6000	288.00	T
Mileage	24.00	MILE	10.8000	259.20	\mathbf{T}_{i}^{l}
180 sks @.06 per	sk per mi				† {
Rotary Plug	1.00	JOB	750.0000	750.00	$\mathbf{T}_{_{\mathfrak{l}}}$
Mileage pmp trk	24.00	MILE	5.0000	120.00	T,
Wood Plug	1.00	EACH	35.0000	35.00	\mathbf{T}_{i}
_		•			

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$276.47 ONLY if paid within 30 days from Invoice Date

Subtotal: Tax...: Payments: Total...: 2764.70 174.18 0.00 2938.88

DRLG	□ COMP	w/o	LOE
•	17176	_	

ALLIED CEMENTING CO., INC. 22530

ζ.		,					
REMIT TO P.O. E						ERVICE POINT:	
RUSS	ELL, KAN	ISAS 6766	55		Warm Milit	in elve	at Bend
	Tere -	TWP.	RANGE C	CALLED	ON LOCATE	N JOBSZABI	JOB FUELSH
DATE 9-25-03	SEC35	17	i 10 w	Lon	1 For	Jagm	Pm
- 1	WELL#	1-35	LOCATION BUSH TON	L HHURT	- Holy Rod (ON PHISTS	WEDK S
OLD OR NEW (Ci			LOCATION		IN EIS	MAN SAS CORPOKA	TION COMMISSION
OLD OR NEW (CI	icie one)		# ·	· · · · · · · · · · · · · · · · · · ·	141 613	JAN 1	2 2006
CONTRACTOR	Petro	nar k	Rig 2	OWNER		CONSERVATION	MONICION
TYPE OF JOB	Rota		'ug .		• -	WICHIT	
HOLE SIZE		T .D.	3380.H	CEMENT		1560 49	0
CASING SIZE		DEF		AMOUNT O	RDERED / /	140 63	i-et
TUBING SIZE		DEI	2010 10				
DRILL PIPE	42	DEI					1
TOOL	•	DEI		COMMON_	1084.6	@ 8.70	913.00
PRES. MAX			NIMUM DE JOINT	POZMIX _	70 4.6	@ 4.70	
MEAS. LINE	T CCC	5110	JE JUIN I	GEL	SAU	@ 14.00	
CEMENT LEFT II	N CSG.			CHLORIDE		@	
PERFS DISPLACEMENT	,	,		ASC		@	
DISPLACEMENT		TEND ATTACK			`	@	
	EQU	IPMENT	•	•		@	
		- 4.4 \	1			@	
PUMP TRUCK			4. munsch			@	
# 181	HELPER	R'e	k Heine			@	
BULK TRUCK	DDIVED	D	0 "1			@	
# 342	DRIVER	Don	Dugan			@ @	i
BULK TRUCK	DRIVER			HANDLING	18000	<u>@ 1.60</u>	29800
#	DITTUR		,	MILEAGE _	180 14	06 ZN	254.20
			,	MILLAGE		TOTA	AL 1859.70
,	RE	MARKS:				1017	1100,110
	1	2010115	7 1 10		SE	RVICE	:
		3260H1	Displace it Down				
with m	Vd Ch	IR Dist	oco .4 Down	DEPTH OF	JOB <i>3266</i>	aff	
mix 35 of	12301	4 0,301	aca it power	PUMPTRU	CK CHARGE		750.00
M. 7 35 st	1 2 95	50 H		EXTRA FO	OTAGE	@	
mly 35 M	lat 4	70 H				4@_ S. ac	120.00
M'T 25 M	e at 60	Awith	Phug To surface	? MANIFOLI	Ď	@	
mip 10 et	on Rot	Hole				@	
						@	
CHARGE TO:	Samu	1/ 4	Mary	_			AL 870.00
			,			TOT	AL _010.00
STREET							
CITY	S'	TATE	ZIP	_·	PLUG & FI	LOAT EQUIPM	ENT
			A. ak		4 (
			/ prom	1-83	old Hole	us @ 35.0	35.00
			You	-/-8	Wood II		
				-		@	
To Allied Ceme	enting Co.	, Inc.	i			@	
You are hereby	requested	to rent ce	ementing equipment			@	
and furnish cen	nenter and	helper to	assist owner or			•	# 20
contractor to do	o work as	is listed.	The above work was			TOT	AL SS.CC
done to satisfac	ction and s	supervisio	n of owner agent or))	•		!
contractor. I ha	ave read &	understa	and the "TERMS ANI	TAX			·
CONDITIONS	s listed of	ı me reve	ise side.	тотат сн	HARGE		
							PAID IN 30 DAY
				DISCOUN	T	IF	raid in ou dai
		1 1		_	. 19	2	4
SIGNATUREX	() ann	sid !	Jaer	_ X Den	mis 1. B	>oese	1
SICHAI ON	4 VIII	_~ (A V)		•	P	RINTED NAME	<u>'</u>

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

INVOICE

Invoice Number: 098531

Invoice Date: 09/23/05

RECEIVED KANSAS CORPORATION COMMISSION

JAN 1 2 2006

CONSERVATION DIVISION WICHITA, KS

% Larson Engineering, Inc. 562 W. Highway #4

Samuel Gary, Jr. & Assoc.

Olmitz, KS 67561-8561

Sold To:

Cust I.D....: Gary

P.O. Number..: Bird 1-35 P.O. Date...: 09/23/05

Due Date.: 10/23/05 Terms...: Net 30

Item I.D./Desc.	Qty. Used		Unit	Price	Net	TX
Common	235.00		SKS	8.7000	2044.50	Т
Gel	4.00		SKS	14.0000	56.00	${f T}$
Chloride	7.00		SKS	38.0000	266.00	T
Handling	246.00		SKS	1.6000	393.60	E
Mileage	24.00		MILE	14.7600	354.24	E
246 sks @.06 pe:	r sk per mi					
Surface	1.00		JOB	670.0000	670.00	E
Extra Footge	116.00		PER	0.5500	63.80	Ε
Mileage pmp trk	24.00		MILE	5.0000	120.00	E
Wood Plug	1.00		EACH	55.0000	55.00	T
J		•		• •		

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$ 402.31 ONLY if paid within 30 days from Invoice Date

Subtotal: Tax...: Payments: Total...:

152.56 0.00 4175.70

4023.14

plan Load

ALLIED CEMENTING CO., INC.

22655

Dies y Fr		CUNFIDENTIAL	,
I CILITALIA I O	P.O. BOX 31 RUSSELL, KANSAS 67665		SER

ERVICE POINT: /	-> ./
C- REAT	Dard

PRINTED NAME

DATE $9.8-c5$ SEC. TWP. RANGE CA	ALLED OUT ON LOCATION JOB START JOB FINISH 9:30 pm 7:30 pm 8:30 pm
	COMMY SIAIE
LEASE BIRD WELL# 1-35 LOCATION (4. (4) GLA	L. L KANSAS CORPORATION COMMISS
OLD OR NEW (Circle one)	DY 147/1/Q
CONTRACTOR TELEOMARK & 2	OWNER Samuel Garry JAN 12 2006
TYPE OF JOB Justace Pipe	CONSERVATION DIVISION
HOLE SIZE 12/4, T.D. 356 4/6	CEMENT WICHITA, KS
CASING SIZE 용성 DEPTH 🥞 기다	AMOUNT ORDERED 235 5x Common 37 c/c 427 oct
TUBING SIZE DEPTH	1) to ofe for to get
DRILL PIPE DEPTH TOOL DEPTH	
PRES. MAX MINIMUM	COMMON_235/4 @ 8.70 2.0445
MEAS. LINE SHOE JOINT	POZMIX@
CEMENT LEFT IN CSG. Approx 15)	GEL 4 Sep 3800 3600 3600 3600 3600 3600 3600
PERFS.	CHLORIDE 7.44 @ 3860 2660
DISPLACEMENT 次点 不是	#SC
EQUIPMENT	@
	@
PUMPTRUCK CEMENTER CACK	
# 130 HELPER BULK TRUCK	
# 34/ DRIVER JOCK	
BULK TRUCK	@
# DRIVER	HANDLING 246 of @ 1.60 393.60
	MILEAGE 24004 05 24 59.24
REMARKS:	TOTAL _3/14.3
Run 10 its drused 83/8 csq.	CEDVICE
Coment with 235 sy coment	SERVICE
Displace plugwith 21 BBIs & FRESH	DEPTH OF JOB 416'
Water Coment Did Cire -	PLIMP TRUCK CHARGE 6 JUCC
Had to come out with Jun Tace pine	EXTRA FOOTAGE 116 @ 55 63.8
of Ooil make hole- Evertower Writer	MILEAGE
messed up tolly thanks	MANIFOLD@
7 10 7 20	
CHARGE TO: Samuel GARY Th & ASS	TOTAL \$53.8
STREET	
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT
CIT I	
	1.87/8 (wood @ 55.00 55.00
	@
To Allied Cementing Co., Inc.	
You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or	@
contractor to do work as is listed. The above work was	TOTAL <u>SS</u>
done to satisfaction and supervision of owner agent or	
contractor. I have read & understand the "IERMS AND	TAX
CONDITIONS" listed on the reverse side.	TOTAL CHARGE
	DISCOUNT IF PAID IN 30 DA
	:
-1 \ ' 1 \ /	·